
                                                                                          �>O5DL 2019            «��%&���»                                                                                                                                                             

� 4 75F 4 �� �'  Â% >E = >7>D E> <=  F 5E = > ?> 7<G5E> < =  F5 E =< >G < Ê 

     03 =>O5DO 2019 7>44 6 7.�>E>65 7465DL<?EO «�5D6O= '5<?<>=4F $>EE<< ?> ?5447>7<-

G5E>><G <4EF5DEF6G ED54< D45>F=<>>6 >5D47>64F5?L=OE GGD5645=<= 3 2019». �D74=<-

74F>D '5<?<>=4F4 3 ��� «�564G=4D>4=4O 4>445<<O D476<F<O >5D47>64=<O». �4<= <7 

GG4EF=<>>6 �5D6>7> '5<?<>=4F4 - <4EF5D ?D><76>4EF65==>7> >5GG5=<O %>E=>7>DE>>7> 

F5E=>?>7<G5E>>7> F5E=<>G<4 �>ENF4 �?5>E5= %5D7556<G. �> <F>74< ?D>6545=<O '5<-

?<>=4F4 �.%.�>ENF4 ?D<E6>5=> 764=<5 «�D>=7>6O= ?D<75D '5<?<>=4F4 $>EE<<» E 6DGG5-

=<5< �G5>4, 4<??><4 3-= EF5?5=< < 5D>=7>6>= <544?<. �>74D46?O5<!!! 

       �5GG4NM<5EO F5E=<>G<4 3 6>?>=F5DO >5N5-

4<=5=<O «�>5D>5 E5D4F5» ?D<=O?< GG4EF<5 6 

E>6<5EF=>< <5D>?D<OF<< E ������ ���� $>E-

E<< ?> 7>D>4G %>E=>7>DE>G. � F5?OE ?D<6<F<O 

45FO< =46O>>6 557>?4E=>7> ?>6545=<O =4 4>D>-

75, ?><>7?< ?D>65EF< 4?O 6>E?<F4==<>>6 45F-

E>>7> E444 4. �>6=O D476?5>4F5?L=GN <7DG ?> 

557>?4E=>EF< 4>D>6=>7> 46<65=<O.  

     10 =>O5DO <E?>?=<?>EL 100 ?5F E> 4=O D>645=<O 

�<E4<?4 &<<>D556<G4 �4?4L=<>>64. «�N5<F5 < 

?>G<F4=F5 <EF>D<N E6>5= $>4<=O, 4>D>7>= =4L5= 

$>EE<<. �5 745O64=F5 55 75D>56 3 < ?<45D>6, < >5O>-

=>65==OE E>?44F&» - 7>6>D<? >=. � <O =5 4>?6=O 

745O64FL > F5E ?N4OE, >>F>DO5 ?D>E?46?ONF =4LG 

EFD4=G. 8 =>O5DO 6 5<5?<>F5>5 F5E=<>G<4 >5GG4N-

M<5EO ?D<=O?< GG4EF<5 6 6<>F>D<=5, ?>E6OM5==>= 

>>=EFDG>F>DG EFD5?>>6>7> >DG6<O < 46F>DG >4=>7> <7 

E4<OE <765EF=OE 46F><4F>6 6 <<D5, >7=4>><<?<EL E 

6<DFG4?L=>= 6OEF46>>= «�575=44D=O= �4?4L=<-

>>6».  

09-10 =>O5DO, >5GG4NM<=EO %>E=>7>DE>>7> F5E=>-

?>7<G5E>>7> F5E=<>G<4 �4=56 �4>E<< (7DG??4 11) 

?D<=O? GG4EF<5 6 E>D56=>64=<OE "�5D65=EF6> $5E-

?G5?<>< �><< ?> G=<65DE4?L=><G 5>N", 6 6>7D4E-

F=>= 7DG??5 16-17 ?5F. �4>E<< 74=O? 1 <5EF> ?> 

65DE<< "�4=F" (5>DL54) < 1 <5EF> 6 E<5L4==>= 5>56>= EE64F>5 

(5>DL54 E ?D<<5=5=<5< G44D=>= F5E=<><). �>74D46?O5< �4>E<<4 

E ?>554>=!!!  



                                                                                   �>O5DL 2019          «��%&���» 

          16 =>O5DO >><4=44 «�4G5F=O5 EFG45=FO» %>E=>7>DE>>7> F5E=>?>7<G5E>>7> F5E=<>G<4 ?D<=O?4 GG4EF<5 6 D5EF<64?5 ��� ED5-

4< <>?>456<, ?D<GD>G5==>< > 40-?5F<N %>E=>7>DE>>7> D4=>=4. �7D4 ��� =4 ?D<7 �?46O �$ «%>E=>7>DE>» ?D>E>4<?4 =4 EF5=5 

��� «�>D<7>=F». � D5EF<64?5 N<>D4 F4>65 ?D<=O?< GG4EF<5 >><4=4O «%>D>L55 =4EFD>5=<5» (�445FE>4O L>>?4 7. %>E=>7>DE>4) < 

«$4>G?LF5F E>F<4?L=OE 55745?L=<>>6» (%�, 7 4 7. %>E=>7>DE>4). .=O5 ���M<>< E>D56=>64?<EL 6 FD5E >>=>GDE4E: «�<7<F=4O 

>4DF>G>4», «$47<<=>4», «�G7O>4?L=>5 4><4L=55 7444=<5». 'G4EF<5 6 ���5  - MF> 6>7<>6=>EFL ?D>45<>=EFD<D>64FL E6>< E?>E>5-

=>EF<, MDG4<F<N, GG6EF6> N<>D4 < F4?4=F, G<5=<5 D45>F4FL 6 >>??5>F<65, GF> E GE?5E><  ?D>45<>=EFD<D>64?4  =4L4 >><4=44.,  

?>>>D<6 E6><< <E>D><5F=O< N<>D><  65EL 7D<F5?L=O= 74?. 

         % 12 ?> 21=>O5DO 6 F5E=<>G<5 ?D>E>4<?<  <5D>?D<OF<O 6 D4<>4E D54?<74F<< $57<>=4?L=>7> ?D>5>F4 «�<?5F 6 5G4GM55=.  

�>4 DG>>6>4EF6>< >?OF=OE <4EF5D>6 < ?D5?>4464F5?5= >5GG4NM<5EO F5E=<>G<4 ?D>45<>=EFD<D>64?< GG4M<<EO >5M5>5D47>64-

F5?L=OE GGD5645=<= ?>?GG5==O5 6 F5E=<>G<5 7=4=<O ?> FD5< >><?5F5=F<O<  <�>64DE>>5 45?>», «%64D>G=O5 F5E=>?>7<<», 

«$5<>=F < >5E?G6<64=<5 ?57>>6OE 46F><>5<?5=».  �>?D>5>64FL E6>< E<?O L>>?L=<>< E<>7?<, ?>GG4EF6>646 6  ?D4>F<G5E><E <5-

D>?D<OF<OE < <4EF5D->?4EE4E . 



                                                                                   �>O5DL 2019          «��%&���» 

' >464>= >5?4EF< =4G>< 5EFL E6>= ?N5<<O= N5<?5=. � GF> >4E45FEO E<<<<, =< >4=4 ?D<G<=4 4?O ?D474=>64=<O =5 ?D56>EE>4<F 

?D><EE>645=<5 ?5D<>4<G5E>>= F45?<FO M?5<5=F>6, E>744==>= 150 ?5F =4744 6 <4DF5 1869 7>44 DGEE><< E<<<>>< �<<FD<5< 

�64=>6<G5< �5=45?556O<. &45?<F4 �5=45?5564 EF4?4 F4>>= 65 ?D<6OG=>= 4?O EFG45=F>6-E<<<>>6, >4> M?5>FD>==O5 F45?<FO 

4?O 5GE74?F5D>6. �=4 EG<<<DG5F 6EN =4G>G 6 GGFL 5>?55 100 >644D4F4E, E>45D64M<E E<<6>?O < G<E?4. �=4 ?5D5G<E?O5F M?5<5=-

FO, <7 >>F>DOE E>EF>OF 6E5 75<=O5 65M5EF64, GEFD>5==O5 F4><< >5D47><, GF>5O 6OO6<FL 74>>=><5D=>EF< 6 <E E6>=EF64E, =4-

?D46?OO E<<<G5E>>5 <EE?54>64=<5 >4> 6 F5>D<<, F4> < =4 ?D4>F<>5.  

�5D<>4<G5E>4O F45?<F4 �5=45?5564, >?G5?<>>64==4O 6 1869 

7>4G, ?D54EF46?O?4 E>5>= 65DF<>4?L=GN 4<47D4<<G, >>F>D4O 

>D74=<7>6O64?4 63 <765EF=OE M?5<5=F4 ?> 4F><=><G 65EG. 

&4>>5 D4E?>?>65=<5 ?><5M45F M?5<5=FO E ?>E>6<<< E6>=EF-

64<< 6 7>D<7>=F4?L=O5 DO4O.  

 �5=<4?L=>EFL �<<FD<O �64=>6<G4 74>?NG45FEO 
6  F><, GF> >= =5 F>?L>> 6OEFD><? <765EF=O5 6 F>   
6D5<O 63 M?5<5=F4, => < >EF46<? 6 F45?<F5 ?GEFO5 
>?5F><, ?D54E>4746, GF> 6=>6L >F>DO64NM<5EO M?5
<5=FO 5G4GF ?>4>5=O F5<, GF> G65 >F>DOFO, ?> E6>
<< E6>=EF64<. � MF4 75=<4?L=>EFL E> 6D5<5=5< ?>
4F65D4<?4EL.  

�> 6>76D4M5=<N 6 %4=>F-�5F5D5GD7, >= 65D=G?EO > <EE?54>64=<O<, ?>?GG<6 4>>F>DE>GN EF5?5=L 6 1865 7>4G, 4 74F5< EF4=>6<FEO 

?D>D5EE>D>< 6 �5F5D5GD7E>>< G=<65DE<F5F5. �E>>D5 ?>E?5 MF>7> �5=45?556 =4G4? ?D5?>4464FL =5>D74=<G5E>GN E<<<N. �>F>-

6OEL >E6><FL MF> =>6>5 (4?O =57>) ?>?5, >= =5 5O? 6?5G4F?5= <<5NM<<<EO GG55=<>4<<. �>MF><G >= D5L<? =4?<E4FL E6>=. �D74-

=<74F<O F5>EF4 FD55>64?4 G?>DO4>G5=<O M?5<5=F>6, ?>MF><G 6>?D>E > F><, >4> ?GGL5 <E D4E?>?>6<FL, ?>EF>O==> 74=<<4? 57>. � 

=4G4?G 1869 7>44 �5=45?556 4>5<?EO 4>EF4F>G=>7> ?D>7D5EE4, GF>5O ?>=OFL, GF> =5>>F>DO5 7DG??O ?>4>5=OE M?5<5=F>6 45-

<>=EFD<D>64?< D57G?OD=>5 G65?<G5=<5 4F><=OE 65E>6; 4DG7<5 M?5<5=FO E ?D<<5D=> >4<=4>>6O<< 4F><=O<< 65E4<< <<5NF 

>5M<5 E6>=EF64. �>474?>EL, GF> G?>DO4>G5=<5 M?5<5=F>6 ?> <E 4F><=><G 65EG 5O?> >?NG>< > <E >?4EE<D<>4F<<.1 <4DF4 �5=-

45?556 6>?NG<? F45?<FG 6 E6>= GG55=<>, >>F>DO= E>>D> 5G45F >?G5?<>>64= < ?>47>F>6<? 4>>?44 4?O ?D54EF46?5=<O D>EE<=E>>-

<G E<<<G5E>><G >5M5EF6G. «-?5<5=FO, G?>DO4>G5==O5 ?> D47<5DG <E 4F><=OE 65E>6, ?>>47O64NF G5F><5 ?5D<>4<G5E><5 E6>=-

EF64», 4 74O6<? �5=45?556 6 E6>5= EF4FL5. «�E5 ED46=5=<O, >>F>DO5 O ?D>65? & ?D<65?< <5=O > 6O6>4G, GF> D47<5D 4F><=>7> 

65E4 >?D545?O5F ?D<D>4G M?5<5=F>6».� 1890-< 7>44< E<<<>< L<D>>> ?D<7=4?< F45?<FG �5=45?5564 >4> 65EG 6 E<<<G5E>>< 

7=4=<<. � 1900 7>4G 5G4GM<= =>55?56E><= ?4GD54F ?> E<<<< '<?LO< $4<E5= =4764? 55 «65?<G4=L<< >5>5M5=<5<, >>F>D>5 4> 

E<E ?>D 5O?> E45?4=> 6 E<<<<». https://ab-news.ru/2019/02/11/150-let-periodicheskoy-tablice-mendeleeva/ 

�5=45?556 D>4<?EO 6 7>D>45 &>5>?LE>5, 6 %<5<D<, 6 1834 

7>4G (17-= D555=>> 6 E5<L5). �> 6D5<O ?>?GG5=<O E6>57> 6OE-

L57> >5D47>64=<O 6 ?5447>7<G5E>>< <=EF<FGF5 6 %4=>F-

�5F5D5GD75 >= GGFL =5 G<5D >F FO65?>= 5>?57=<. �>E?5 >>>=-

G4=<O >= ?D5?>4464? 6 ED54=<E L>>?4E (FD55>64=<5 4?O ?>?G-

G5=<O EF<?5=4<< 6 GG55=>< <=EF<FGF5), 4 6> 6D5<O ?D5?>4464-

=<O <4F5<4F<>< < 5EF5EF65==OE =4G> >= ?D>6>4<? <EE?54>64-

=<O 4?O ?>?GG5=<O EF5?5=< <47<EFD4. �4F5< >= D45>F4? ?D5?>-

4464F5?5< < ?5>F>D><, ?>>4 =5 ?>?GG<? EF<?5=4<N 4?O EF4-

6<D>6>< 6 E4<OE <765EF=OE G=<65DE<F5FE><E E<<<G5E><E ?4-

5>D4F>D<OE �6D>?O. 



                                                                                   �>O5DL 2019          «��%&���» 

�=4G<F5?L=O5 >F>DOF<O �<<FD<O �64=>6<G4 �5=45?5564, ?>6?<O6L<5 =4 D476<F<5 E<<<G5E>>= =4G>< ?> 6E5<G <<DG, =46E5744 

6=5E?< <<O DGEE>>7> GGU=>7> 6 E?<E>> 65?<G4=L<E GGU=OE ??4=5FO. �> GF> <O 7=45< > 75=<4?L=>< E<<<>5 >4> > ?<G=>EF<? �4-

>>= G5?>65> >= 5O?? 'F> 5MU ?><=OF ?N4< >5 <765EF=>< �5=45?5565 >D><5 57> >7D><=>7> =4GG=>7> 6>?444? 

'6?5G5=<O 65?<>>7> E<<<>4 �5=45-

?5564. «%4< G4<6?ONEL 4 G57> F>?L>> 

O =5 45?O64? 6 E6>5= =4GG=>= 6<7=<. 

�  E45?4 = >,  4G<4 N,  = 5??>E>» 

�4 E57>4=OL=<= 45=L, ?>64?G=, E4<O< 

<=F5D5E=O< < =5<765EF=O< D4>F>< 

<7 6<7=< �.�. �5=45?5564 EF4?> =5>5OG-

=>5 G6?5G5=<5 <765EF=>7> E<<<>4. $45>-

F4O E D4EF6>D4<< < E>74464O =>6O5 

«D5F5?FO», �5=45?556 <7>5D5? >E>5O= 

6<4 >?5O. �7> >?5= 5O? G4<6<F5?L=> 

?D>G=O< < >4G5EF65==O<, E<<<> 4465 

=5 4>65D<? =<>><G D5F5?FGDG E6>57> 

«>?556>7> <7>5D5F5=<O». �4=4>> <<5==> 

MF> =>6L5EF6> ?>76>?<?> GGU=><G 

E =4E?4645=<5< ?>7DG7<FLEO 6 =>6>5 

E>55< 4 <77>F>6?5=<5 G5<>44=>6, ?5D5-

??5F5=<5 >=<7 < >?55=<5 D4<>> 4?O >4D-

F<=. �D<GU< MF> G6?5G5=<5 4>EF<7?> F4>>-

7> <4EF5DEF64, GF> 6 �>E>65 < %4=>F-

�5F5D5GD75 �5=45?556 E?O? 6O44NM<<-

EO ?D>D5EE<>=4?><, 4 >G?<FL G5<>44= 

G 65?<>>7> E<<<>4 5O?> 45?>< >E>5O< 

< 7=4G<F5?L=O<. �D5EF<6G E?>E>5EF6>64-

?4 =5 F>?L>> <765EF=>EFL GGU=>7>, 

= >  <  ? > F D O E 4 N M < 5  > 4 G 5 E F 6 > 

<  4 > ? 7 > 6 5 G = > E F L  < 7 4 5 ? < = . 

�>?44 �.�. �5=45?5564 6 =5DFO=GN ?D><OL?5==>EFL. «%6<74FL =5DFL, 6E5 

D46=> GF> F>?<FL ?5G>G 4EE<7=4F<O<<». �E>5O< 6>?44>< �.�. �5=45?5564 5O?4 57> 

F5>D<O =5>D74=<G5E>>7> ?D><EE>645=<O =5DF<. &4>65 GGU=O< 5O?4 D47D45>F4=4 E<E-

F5<4 5U 4D>5=>= ?5D57>=><. �<5==> �5=45?556 ?5D6O< 4>>474?, GF> =5DFL =5 =G6=> 

E6<74FL 6 F>?>4E. �?47>44DO >F>DOF<O< < D45>F4< �.�.�5=45?5564 6?445?LFO-

=5DFO=<>< EF4?< <E?>?L7>64FL F<EF5D=O ?D< ?5D56>7>5 =5DF< (4> MF>7> ?>?L7>64?<EL 

5GD4N>4<<). �> 57> 65 D5>><5=44F<< ?D><OL?5==<>< EF4D4?<EL EFD><FL =5DFO=O5 

746>4O ?> ?5D5D45>F>5 =544?5>> >F F>7> 65 <5EF4, 745 < ?>FD55?O?EO =5DF5?D>4G>F. 

� 5 = 4 5 ? 5 5 6  <  < 5 = 4 5 ? 5 6 < = .                                                                                                    

�E?< <O 7>6>D<< > ?5D<>4<G5E>>= F45?<F5 �5=45?5564. F> EF><F < G?><O=GFL 

>5 >E>5>< 5U M?5<5=F5 4 <5=45?56<< (Md). -F>F E<<<G5E><= M?5<5=F 5O? <E>GEEF-

65==> E<=F57<D>64= 6 1955 7>4G < 5O? =4764= 6 G5EFL E>744F5?O ?5D<>4<G5E>>= E<EF5-

<O M?5<5=F>6. �5=45?56<= =4E>4<FEO 6 F45?<F5 ?>4 =><5D>< 101 

�>?UFO 6 =55> < L?<>=E><5 F4==O. «�D4=<F =4GG=><G ?>7=4=<N 

< ?D54E>474=<N ?D546<45FL =56>7<>6=>». �7 74?<E5= 4>?>4?<==> <765EF=>, 

GF> 65?<><= E<<<> 6 F5G5=<5 <=>7<E ?5F D47D454FO64? >>=EFDG>F<N ?5F4F5?L-

=>7> 4??4D4F4. � 1875 7>4G << 5O? D47D45>F4= ?D>5>F EFD4F>EF4F4. &4>65 >= 5O? 

46F>D>< <7>5D5F5=<O G?D46?O5<>7> 4MD>EF4F4 E 46<74F5?O<<. �5=45?5564 74-

E64FO64?< =5 F>?L>> <7>5D5F5=<O, => < E4<< ?>?UFO 4 >= ?5F4? =4 4MD>EF4F4E 

=5>4=>>D4F=>. &4>, ?5D6O= ?>?UF 5O? E>65DLU= E<<<>>< 6 1878 7>4G, E?54GN-

M<= 65 E?GG<?EO 46 G5D57 456OFL ?5F. �E>5> EF><F >F<5F<FL ?>?UF �5=45?5564 

=4 6>74GL=>< L4D5 «$GEE><=» 6 >4<=>G5EF65. �>?UF =4 6OE>F5 5>?55 FDUE FO-

EOG <5FD>6 4?<?EO >>>?> FDUE G4E>6. �4 MF> 6D5<O �5=45?556 E<>7 ?>=45?N-

44FL 74 ?>?=O< E>?=5G=O< 74F<5=<5< < <7<5D<FL 446?5=<5 < F5<?5D4FGDG. 

 

'GU=O=-?4FD<>F.  «�4G>4 5EFL 4>EF>O=<5 >5M55, 4 ?>F><G E?D4654?<6>EFL FD55G5F =5 F><G >F44FL =4<5>?L-

LGN =4GG=GN E?46G, >F> ?5D6O= 6OE>474? <765EF=GN <EF<=G, 4 F><G, >F> EG<5? G554<FL 6 =5= 4DG7<E, ?>>474? 

5U 4>EF>65D=>EFL < E45?4? 5U ?D<<5=<<>= 6 =4G>5».  �.�. �5=45?556 5O? =5 F>?L>> GGU=O<-E<<<>><, => < =4EF>OM<< 

?4FD<>F><. � E6>U< ?<EL<5 %... �<FF5 (DGEE><= 7>EG44DEF65==O= 45OF5?L, <<=<EFD ?GF5= E>>5M5=<O, <<=<EFD D<=4=E>6), 6?D>-

G5<, F4> < =5 >F?D46?5==><, �<<FD<= �64=>6<G ?<E4?: «�?>4O <><E FDG4>6 4 ?D5645 6E57> 6 =4GG=>= <765EF=>EF<, E>EF46?ONM5= 

7>D4>EFL 4 =5 >4=G <>N ?<G=GN, => < >5MGN DGEE>GN... �GGL55 6D5<O 6<7=< < 5U 7?46=GN E<?G 67O?> ?D5?>4464F5?LEF6>... 

�7 FOEOG <><E GG5=<>>6 <=>7> F5?5DL ?>6EN4G 6<4=OE 45OF5?5=, ?D>D5EE>D>6, 44<<=<EFD4F>D>6, <, 6EFD5G4O <E, 6E5744 E?OL4?, 

GF> 4>5D>5 6 =<E E5<O ?>?474?, 4 =5 ?D>EFGN >F5O64? ?>6<==>EFL... &D5FLO E?G654 <>O $>4<=5 =4<<5=55 6<4=4, E>FO 745>F<?4 <5-

=O E N=OE ?5F ?> E<E ?>D. -F> E?G654 ?> <5D5 E<? < 6>7<>6=>EF< =4 ?>?L7G D>EF4 DGEE>>= ?D><OL?5==>EF<». 

 

�EF>G=<>: https://rosuchebnik.ru/material/mendeleev-biografiya/  



                                                                                   �>O5DL 2019          «��%&���» 

      22-23 =>O5DO ?D>L5? F<>? <5D>?D<OF<=, ?>E6OM5==O= �564G=4D>4=><G �=N <4F5D<. �=<<4=<N D>4<F5?5= 5O?4 ?D54EF46?5-

=4 ?<F5D4FGD=>-<G7O>4?L=4O >><?>7<F<O «�4<<=> E5D4F5». �5GG4NM<5EO =4?<E4?< «>F>DOF>5 ?<EL<> <4<4<», 6 >>F>D>< D4E-

E>474?<, >4> ?D>E>4<F <E GGU54 < GF> =>6>7> ?>O6<?>EL 6 <E 6<7=<, E F5E ?>D, >4> >=< EF4?< EFG45=F4<<. &4>65 6 ?<EL<4E >=< ?>-

74D46<?< <4< E ?D474=<>><, 6OD47<?< E6>N 5?47>44D=>EFL, ?>?D>E<?< ?D>M5=<O < ?D<7=4?<EL 6 F><, >4> E<?L=> ?N5OF E6><E 

<4<. � 42 7DG??5 D55OF4 E>6<5EF=> E <4EF5D>< �G?4=>6>= %.�. 74?<E4?< 6<45>?>74D46?5=<5, >>F>D>5 >F?D46?5=> >464>= <4<5 6 

45=L ?D474=<>4 (https://www.youtube.com/watch?time_continue=27&v=ZOegDyoHckA&feature=emb_logo) ). � 5<5?<>F5>5 F5E=<>G<4 6>E?<F4-

F5?L �?D<<>64 �.�. ?D>65?4 ?>7=464F5?L=O= G4E «%4<O= 4>D>7>= G5?>65>».  

       24 =>O5DO >5GG4NM4OEO %>E=>7>DE>>7> F5E=>?>7<G5E>>7> F5E=<>G<4 %F4D<>>64 �4D<O, 7DG?-

?4 318, ?D<=O?4 GG4EF<5 6 D4=>==>< >>=>GDE5 >D4E>FO < 65=EF65==>EF< "�<EE %>E=>7>D>G>4-

2019". 'G4EF=<F4< ?D54EF>O?> ?D>=F< =5E>>?L>> <E?OF4=<=: «�<7<F=4O >4DF>G>4», 

«�=F5??5>FG4?L=O= >>=>GDE», «&6>DG5E><= >>=>GDE», «�5D<?5 6 E64455=OE ??4FLOE». �4644O 

<7 >>=>GDE4=F>> ?D<?>6<?4 <4>E<<G< GE<?<=, ?D>45<>=EFD<D>646 E6>< F4?4=FO < G<5=<O, 

GF>5O 4>>474FL, GF> <<5==> >=4 4>EF>==4 764=<O «�<EE %>E=>7>D>G>4». %F4D<>>6>= �4D<< 5O? 

?D<E6>5= F<FG? «�<EE �D4F<O». �>74D46?O5< �4D<N!!!  

�465DL<?EO D>F>>>=>GDE «�D4E>F4 DO4>< E =4<<». �> <F>74< 7>?>E>64=<O GEF4=>6?5=O ?>554<F5?< D>F>>>=>GDE4. 1 <5EF> 3 �<-

E4<? �G=G5=>>, 7DG??4 104 , 2 <5EF> 3 �<<FD<= �?<E556, 7DG??4 104, 3 <5EF> 3 �64= %>7O<=>6, 7DG??4 104. �>74D46?O5< E ?>554>=!  
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�4L 44D5E: 

$5E?G5?<>4 �><<, 169501, 7. %>E=>7>DE>, G?. �GD4F>64,44 

        �475F4 6O?>?=5=4  «�D5EE-F5=FD><» 

%>EF46<F5?L < >D>D<<F5?L 6O?GE>4 �>745564 �.%. 

�475F4 6OE>4<F 565<5EOG=>. $4E?D>EFD4=O5FEO 55E??4F=>. 

� 4 75F 4 �� �'  Â% >E = >7>D E> <=  F 5E = > ?> 7<G5E> < =  F5 E =< >G < Ê 

 �><4=44 %>E=>7>DE>>7> F5E=>?>7<G5E>>7> F5E=<>G<4 "'UD=O5 /EFD55O» D476<645FEO < G65 4>EF<745F GE?5E>6.  �><4=44 ED>D<<D>-

64?4EL F>?L>> 6 MF>< 7>4G <  ?GEFL ?>>4 "76574 E =554" =5 E64F4NF, => <E ?N5>6L < ?D544==>EFL 54E>5F5>?G 74E?G6<645F G6465=<O!   
4 < 10 =>O5DO >><4=44 ?D<=O?4  GG4EF<5 6 <G=<F<?4?L=OE E>D56=>64=<OE ?> 54E>5F5>?G ED54< <>?>456=OE >><4=4 7.%>E=>7>DE>4, 

74=O6 4 <5EF>.  

 &4>65 >><4=44 «'5D=O5 /EFD55O» 

?D<=O?4 GG4EF<5 6 <7D4E =4 �G5>> ���� 

«'EF4» ?> 54E>5F5>?G ED54< <G6E><E 

>><4=4.  '5F65DF>5 <5EF> 4<6<7<>=4 

"$476<F<5" - >><4=44 "'5D=O5 /EFD55O" 

<  ?GGL<= <7D>> >><4=4O "'UD=O5 /EF-

D55O" (%>E=>7>DE>) - �465? �>64?U6.  

 �G5>> 'EFO. �F>7< 

 

 �>45>DO: �GGL<= ?> >5M5<G 

G<E?G ?>45>D>6 <7D>> FGD=<D4 

 

 �>64?56 �465? ('5D=O5 /EFD55O) 

 4 <7DO (ED54=<5 ?>>474F5?<): 10,8 

pts, 1,5 ast, 14,3 reb, 1,5 stl; 

     30 =>O5DO >5GG4NM<5EO %>E=>7>DE>>7> F5E=>?>7<G5E>>7> F5E=<>G<4 ?>4 DG>>6>4EF6>< ?D5?>4464F5?O D<7<G5E>>= >G?LFGDO �>-

64?U64 �46?4 �?44<<<D>6<G4 ?D<=O?< GG4EF<5 6 �G=<F<?4?L=>< MF4?5 7<<=57> D5EF<64?O �$%� �&�. �E5 =>D<4F<6O E44?< GE?5L-

=>, 6 5G4GM5< <E >6<445F 6DGG5=<5 7=4>>6 >F?<G<O "�&�". �>74D46?O5<!!! 


